Mineral Science

Extractive Metallurgy


Sieve Analysis
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1)

a. Complete the above table.


b. Make a frequency plot (arithmetic scale) of the weight percent cumulative    

retained vs. particle size. Estimate 80% passing size.



c. Make a Log-Log plot of cumulative % weight passing vs. particle size and 


calculate distribution modulus and size modulus.
(2) How much galena at a density of 7.5 gm/cm3 must be added to water (density 1.0 gm/ 
cm3) to obtain 1 litre of pulp at a pulp density of 2.25 gm/cm3?
